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The coordinates of Brazil’s capital Brasilia are ...

A 15° 25’ S 28° 17’ W

B 1°17’ S 36°49’ O

C 39° 55’ N 32° 50’ O

D 15° 46’ S 47° 54’ W
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Which country is NOT crossed by the equator?
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A Ecuador

B India

C Kongo

D Indonesia
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There are different types of clouds. Which term is NOT
correct?

A stritus

B cumulus

C stratus

D cumulonimbus
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Which is the least important greenhouse gas?

A CO2
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B CH4

C O3

D H 02
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A tropical storm in Australia is called ...

A taifun

B willy-willy

C hurricane

D cyclone
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About 30% (2008) of this resource is found in Kongo and
is used for most electronic products:

A iron

B gold

C coltan
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D copper
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What European country exports most crude oil?

A Germany

B Norway

C Great Britain

D Denmark
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What aspect is NOT part of the sustainability concept?

A ecological

B international

C economical

D social
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Which landform has the highest biodiversity in
Switzerland?

A wetlands

B mountains

C cities

D forests
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Different glaciers can be found in Europe. Where is the
biggest of them?

A Switzerland

B Norway

C Iceland

D Finland
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Which type of desert does NOT exist?
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A medina

B hamada

C erg

D serir
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How many people live in India (2011)?

A 300 millions

B 600 millions

C 900 millions

D 1200 millions
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What is NOT an economical sector?

A transport

B industry
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C agriculture, mining and fishing

D service
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What is the busiest container port in Europe?

A Hamburg

B Marseille

C Genua

D Rotterdam
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The country with the lowest HDI in 2013 was ...

A Nepal

B Niger

C Papua-New Guinea

D Haiti
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What worldwide percentage of people live in cities in
2014?

A 30%

B 40%

C 50%

D 60%
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What process takes place in many cities worldwide during
city renewal?

A suburbanization

B segregation

C industrialization

D gentrification
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What is the origin country of most foreign tourists in
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Switzerland (2014)?

A Netherlands

B China

C India

D Germany
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How many overnight travels of Swiss people lead to
foreign countries?

A 24%

B 42%

C 61%

D 78%
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In which of these countries are the majority of people
Islamic?
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A Vietnam

B Thailand

C Indonesia

D Singapur
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Which is the largest ethnic group in China?

A Han

B Uigur

C Kazach

D Tibetan
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Palm oil and palm kernel oils is processed for a huge
amount in different products. For which product is it NOT
used?

A ice-cream

B margarine
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C fuel

D motor-oil
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The picture shows Yverdon-les-Bains in Switzerland (46°
46.71' N and 6° 38.45' E). It was taken on 21th March
2012. In which direction is the cyclist heading?

A ESE

B WNW

C ENE

D WSW
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There are two landlocked countries in South America, but
only one of them has a capital that cannot be reached by
ship from the ocean. Which country is it?

A Peru

B Bolivia
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C Paraguay

D Colombia
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In which city was that photograph taken?

A Chicago

B New Orleans

C Miami

D San Francisco
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Which side view (right side) matches the contour map 1
on the left side?

A A

B B

C C
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D D
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From left to right, what is the correct sequence matching
these climate graphs to the following cities:

1: Athens (Greece)

2: Chittagong (Bangladesh)

3: Zinder (Niger)?

A 1, 2, 3

B 1, 3, 2

C 2, 3, 1

D 3, 2, 1
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In this picture, what are the season and time in Paris?

A summer and evening

B summer and morning
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C winter and evening

D winter and morning

MULTIPLE CHOICE TRUE / FALSE
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